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LTHEHE

. L & = i
+TO | tT@ | £TO | 1O | £TO® | £TO | £TO | £TO | 2TO | £TO | LT | 21TG [ TGO | £T® | 121
P S DP=0.70 | DP=0.75 | DP=0.90 | DP=0.94 | DP=0.95 | DP=0.98 | DP=1.10 | DP=1.18 | DP=1.20 | DP=1.50 | DP=1.53 | DP=1.57 | DP=1.58 | DP=1.60 | DP=0.15 3 b
PR 2INDEFS
DIP DIP DIP DIP DIP DIP DIP DIP DIP DIP DIP DIP DIP DIP DIP
$75 $75 $75 $75 $75 $75 $75 $75 $75 $75 $75 $75 $75 $75 $75
<tT>
Ashithys—
L GO T t=15cm¥ T 933.50]  34.18 18.62 6.48 17.86] 106.94| 44.48] 21.28]  81.44 11.02 5.82 8.72 m | 1290.34 1290
HEH AR AT A RGA
SlERRIRVEEL T BHO0.28m3, t=15cmBL T 280.05 10.25 5.59 1.94 5.36 32.08 13.34 6.38 24.43 4.68 2.47 3.71 m? 390.28 390
DT 4t BHO.28m3FHAL=11.2km
AspRii T Ashl 11.20 0.41 0.22 0.08 0.21 1.28 0.53 0.26 0.98 0.19 0.10 0.15 m 15.61 16
oot Ashl 26.32 0.96 0.52 0.19 0.49 3.01 1.25 0.61 2.30 0.45 0.24 0.35 t 36.69 37
+i)
PR T BHO.28m3 210.97 8.24 5.33 1.93 5.38]  33.15 15.39 7.87[  30.62 7.27 3.92 6.05 0.30] m”® 336.42 340
42h
A AN T BH0.28m3 Z/SE/E 78.88 2.89 1.57 0.55 1.51 9.04 3.76 1.80 6.88 1.33 0.70 1.06 m’ 109.97 110
fERA:
A LR T BH0.28m3 2 /SE/E 58.81 2.67 2.29 0.87 2.46 15.72 8.14 4.40 17.35 4.73 2.57 4.04 0.30] m”® 124.35 124
DT 4t BHO.28m3fHAL=2.0km
7 A T b 145.63 5.27 2.79 0.96 2.65 15.68 6.35 2.98 11.34 2.01 1.06 1.56 m’ 198.28 198
ot VR 145.63 5.27 2.79 0.96 2.65 15.68 6.35 2.98 11.34 2.01 1.06 1.56 m* 198.28 198
R H=2.0m
TR TR LS AR 1B 5.51 2.91 4.36 m 12.78 12.8
<SR IH T >
NS W=1.8mA s
T AR T (i) RC-40.t=15cm _Hiid 280.05 10.25 5.59 1.94 5.36 32.08 13.34 6.38 24.43 4.68 2.47 3.71 m” 390.28 390
NS W=1.8mA o is
L AR T (i) RM-30,t=11lcm i 280.05 10.25 5.59 1.94 5.36 32.08 13.34 6.38 24.43 4.68 2.47 3.71 m” 390.28 390
AF7 W= L AmA
FKJE T g7, t=10cm m®
AT W= AmAI A~/
#ET 4 JET ATy, t=3cm 280.05 10.25 5.59 1.94 5.36]  32.08 13.34 6.38]  24.43 4.68 2.47 3.71 m” 390.28 390
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(1) (2) (3) (4) (5) (6) (7) (8) (9) (10)

DIP ¢ 75 m

+TO D=0.70 124. 64 87.79 61.18 77.64 115. 06 0. 44 466. 75
DIP ¢ 75 m

+T® D=0.75 17.09 17.09
DIP ¢ 75 m

+TB D=0.83
DIP ¢ 75 m

+T@ D=0.90 9.31 9.31
DIP ¢ 75 m

+T.5 D=0.94 3. 24 3.24
DIP ¢ 75 m

+T.©® D=0.95 8.93 8.93
DIP ¢ 75 m

+T@ D=0.98 24.95 28.52 53. 47
DIP ¢ 75 m

+T® D=1.05
DIP ¢ 75 m

+T.©O D=1.10 10. 84 11. 40 22.24
DIP ¢ 75 m

+ T D=1.17
DIP ¢ 75 m

+ T D=1.18 10. 64 10. 64
DIP ¢ 75 m

+T@® D=1.20 40. 72 40.72
DIP ¢ 75 m

+T® D=1.45
DIP ¢ 75 m

+ T D=1.50 5.51 5.51
DIP ¢ 75 m

+ T D=1.53 2.91 2.91
DIP ¢ 75 m

+ T3 D=1.57
DIP ¢ 75 m

+T@ D=1.58 4. 36 4.36
DIP ¢ 75 m

+T@® D=1.60




+1T @ DIP ¢ 75 + T ¥ & i H E 1.0 Y

s % T W R lgé”ﬁ'“ﬁ"“ﬁé” | % &
DIP ¢ 75 +40 0.70 m e
Ashbys—
+TIER T T RAEFERLD = 466.75 m ||&HEEEI T T t=15cmET 2 X 1.0 2.0 m 933.50
1) 72 = 0.70 +0.093 - 0.04 = 0.753 m PELA 2R R B HIRTA
i A AR =0.20 + 0.093 = 0.293 m [[AsfivEEL T BH0.28m3, t=15cmPL T 0.600 X 1.0 0.600] ™ 280.05
MR TERT =0.04+0.753 - 0.293 - 0.29 = 0.210 m
AsFRALER T 0.600 X 0.04 0.024] ™ 11.20
£ 8 | HEH AsERALEE T 11.20 X 2.35 26.320| ° 26.32
R H
PEHI T BH0.28m3 0.600 X 0.753 0.452| ™ 210.97
HEBMEL o0 o REI THEAS
= N As / s .
4 S NN E ! 1 B AN 0.600 X 0.293
' Ri-30 _'2" =3 R T BIH0.28m3 &/ S#x/E - 0.007 (B ¥ERR) 0.169] " 78.88
PR | Re-40 3 7 g ekt 0.600 X 0.210 |
e - e 8 ~ 15T BHO0.28m3 > /3iEE 0.126f ™ 58.81
g B mf‘_’}-i = X fEK LN 6534 X 0.9 -  58.81
: 1 + 1Ek LR ms 65.34
BESR = K LT
?i_ 2 7 ALEE T 210.97 - 65.34 = 145.63| ™ 145.63
/]
Z=KE DIP-GX@?S_/’" < EhEEE IR T >
BE AJI AN HAN
AsE B T(H5H) F/EBRRIEET A2 t=3cm 0.600 X 1.0 0.600] ™ 280.05
AT W=1.8mAN BRI
LR T (BE) | E AR S RARM-30 t=11cm 0.600 X 1.0 0.600] ™ 280.05
2 AT W=1.8mAN Fo BRI
PR 0.093 X /4 =0.007 TREEET (FiE)  |FAERARC-40 t=15cm 0.600 X 1.0 0.600] ™ 280.05
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i X T fl il bl N B HAr| e &
DIP 75 + 0.75
¢ B0 L e
AsffUys—
T TIERE T TIEEEHEIY = 17.09 m ||&f2E g0 T t=15cm¥E T 2 X 1.0 2.0 m 34.18
1) 72 = 0.75+0.093 - 0.04 = 0.803 m PELA 2R R B HIRTA
B A AR =0.20 +0.093 = 0.293 m |[AsprEvvgEL T BHO0.28m3, t=15cmLL T 0.600 X 1.0 0.600[ ™ 10.25
WEYE  fEd1 =0.04+0.803 - 0.293 - 0.29 = 0.260 m
AsERALER T, 0.600 X  0.04 0.024] ™ 0.41
2 8l L AsHRALEL T 0.41 X 2.35 0.964| ' 0.96
+wp H
G 550 A T BH0.28m3 0.600 X 0.803 0.482 ™ 8.24
HEREREL o s RET THEAS
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*>—— —— e
EKE DIP-GX$ 75/ < BERIA T >
HE AJ] AVRAAN
AsZ g T.(F58) FAR BRI EET A3 t=3cm 0.600 X 1.0 0.600[ ™ 10.25
AT W=1.8mAili #unHaE
BB AR T () | Ak E A RM-30 t=11cm 0.600 X 1.0 0.600[ ™ 10.25
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AshfUy4—
+TIER T TIEEEHEIY = m |G T t=15cm¥E T 2 X 1.0 2.0 m —
1) 72 = 0.83 +0.093 - 0.04 = 0.883 m PELA 2R R B HIRTA
R R A AR =0.20 +0.093 = 0.293 m |[AshREXWEEL T BH0.28m3, t=15cmLL T 0.600 X 1.0 0.600] ™ —
MR TERT =0.04+0.883 - 0.293 - 0.29 = 0.340 m
AsERALEE T 0.600 X  0.04 0.024] ™ —
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R H
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WEMREL o0 o BT THEA
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2 RRANERNRN = * L4 B AN 0.600 X 0.293
[ MR T BH0.28m3 %/ Mis/E ~ 0.007 (KlEFERR) 0.169] "™ —
— B Y o ikt 0.600 X 0.340
- C oty e 3 P T BHO0.28m3 #. /S#5E 0.204] ™ —
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EKE DIP-6XG 75/ < Bl 1A T >
BE AJI AN HAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.600 X 1.0 0.600] ™
AT W=1.8mAN BRI
BT (BOE)  |EAEREE A RM-30 t=11cm | 0.600 X 1.0 0.600] ™
2 AT W=1.8mAN Fo BRI
PR 0.093 X /4 =0.007 TREEET (FiE)  |FAERARC-40 t=15cm 0.600 X 1.0 0.600] ™




+T @ ¢ 75 T % & & " & 1,040
. 1m0 -1 EHATHY | o =
» I A | - =
S X il il il Fa— | M &
DIP 75 + 0.90
b U P
Ashfihy4—
TR T THEREFRLY = 9.31 m ||&hEEEIMT T t=15cmET 2 X 1.0 2.0l m 18.62
1) 72 = 0.90 +0.093 - 0.04 = 0.953 m PELA 2R R B HIRTA
R A AR =0.20 + 0.093 = 0.293 m ||AshRERVEEL T BHO0.28m3, t=15cmPA F 0.600 X 1.0 0.600[ ™ 5.59
HEEZE  FEEL =0.04 +0.953 - 0.293 - 0.29 = 0.410 m
AsTRALER T 0.600 X 0.04 0.024f ™ 0.22
. ) AsTRALER T 0.22 X 2.35 0.517) * 0.52
£ B REIE EueS m
I T BH0.28m3 0.600 X 0.953 0.572 ™ 5.33
WEBREL o0 o REI THEA
2 As | | S A AR 0.600 X 0.293
S0 | 2 o LT BHO.28m3 4> /S i £ ~0.007 (BB | 0.169] "™ 157
' RO-40 —a] & fEH+ 0.600 X 0.410
- "~ (T5] .
5 o = 1 8 W T BH0.28m3 4> /S#EJE 0.246 ™ 2.29
2 2 i = fEREWM 254 X 09 = 229
o0 g 1= | =t ~H N m3
&AL | e L 2.54
6#6’?‘2 K 8 53 1=t
P = BT 533 - 254 = 2.79] ™ 2.79
,‘. i—_ e
RAE DIP-OT5/ <ERREI T >
BE AJI AN HAN
AsFE JE T(HjH) FEAE B RIEET 23 t=3cm 0.600 X 1.0 0.600[ ™ 5.59
ANJ1 W=1.8mA&jl Ao s E
AT (HE) AR ERERARM-30 t=11em | 0.600 X 1.0 0.600[ ™ 5.59
2 AT W=1.8mA 25+
PR PERR 0.093 X =x/4 =0.007 TR L (HaE) | A RC-40 t=15cm 0.600 X 1.0 0.600[ ™ 5.59




+T ® DIP ¢ 75 T % & B B E 1020240
s % T W R lgé”ﬁ'“ﬁ"“ﬁé” | % &
DIP o 75 +#0 0.94 e
Ashbys—
+TIER T T RAEFERLD = 3.24 m ||&hEEEIN T t=15cm¥T 2 X 1.0 2.0/ m 6.48
1) 72 = 0.94 +0.093 - 0.04 = 0.993 m PELA 2R R B HIRTA
R A AR =0.20 +0.093 = 0.293 m |[AspERVEEL T BH0.28m3, t=15cmLL F 0.600 X 1.0 0.600] ™ 1.94
WEYE  {EXET =0.04 +0.993 - 0.293 - 0.29 = 0.450 m
AsERALEE T 0.600 X  0.04 0.024] ™ 0.08
BB | &ER Asik LB T 0.08 X  2.35 0.188] ° 0.19
‘ +w H
HEHI T BH0.28m3 0.600 X 0.993 0.596| ™ 1.93
REMDEL o0 o HMT BHEAS
. ?5’ ‘.‘:’_\":\‘}?iﬁ'\'\ﬂ'J“/"?"""V"'-'f’yzrf: gr s . 2 AR 0.600 X 0.293
RES0 | F o LR T BH0.28m3 4 /i) ~0.007 (RLEHER) 0.169 " 0.55
" RC-40 8 % g 1E%+ 0.600 X 0.450 |
I |3 2 LR T BH0.28m3 4 /i) 0.270[ ™ 0.87
S g - L B = ORI 097 X 09 = 087
i 75 % 3 m3 0.97
BESA K g K LT
A S _ m3
L _ : 2] PR AL T 1.93 097 = 0.96 0.96
HKE DIP-GXT5/ < S I T >
BE AJI AN HAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.600 X 1.0 0.600] ™ 1.94
AT W=1.8mAN BRI
LR T (BE) | E AR S RARM-30 t=11cm 0.600 X 1.0 0.600] ™ 1.94
2 AT W=1.8mAN Fo BRI
P A 0.093 X /4 =0.007 TREEET (FiE)  |FAERARC-40 t=15cm 0.600 X 1.0 0.600] ™ 1.94




+T ® DIP ¢ 75 T % & 3 " & 102240
. Im34 91 HAT4Y | v =
W # | E=N
i X T fl il bl N B HAr| e &
DIP 75 +# 0.95
¢ B Tollc+T>
AshfUy4—
T TR T TIEEEHEIY = 8.93 m ||&HiLGIlr T t=15cm¥E T 2 X 1.0 2.0 m 17.86
1) 72 = 0.95+0.093 - 0.04 = 1.003 m PELA 2R R B HIRTA
P A Ak =0.20 + 0.093 = 0.293 m |[AshRHEVWEEL T. BH0.28m3, t=15cmLL T 0.600 X 1.0 0.600[ ™ 5.36
M {E3ET =0.04 + 1.003 - 0.293 - 0.29 = 0.460 m
AsERALER T, 0.600 X  0.04 0.024] ™ 0.21
B | REE ASERALER T 0.21 X 2.35 0.494] ' 0.49
! +w H
A T BH0.28m3 0.600 X 1.003 0.602 ™ 5.38
HERIE L TLT BRI BHEAS
= % S
3 AN 772 —=$ T * 5 Ab 0.600 X 0.293
% 2 MR T BHO0.28m3 %> /SiiEF - 0.007 (Fl%&PEER) 0.169] ™ 1.51
=1 o
HEER S b 2 . 8 fEkt 0.600 X 0.460 ’
2 o g = R T BH0.28m3 &/ iE 0.276[ ™ 2.46
= < H kWA 273 X 09 = 2.46
i 1635+ m3 2.73
| " o| it .
FEAAR < | TER L
- < 2, FE AP T 538 - 273 = 2.65[ ™ 2.65
/|
#KE DIP-BXO TS/ < B3 fE IE T >
HE AJ] AVRAAN
AsF g T(HH) BRI ET AT t=3cm 0.600 X 1.0 0.600[ ™ 5.36
AT W=1.8mEfii 4onERJE
LEgAE T (BE) WAk E ISR ARM-30 =11ecm | 0.600 X 1.0 0.600[ ™ 5.36
2 AT W=1.8mEfii 4onERJE
R ERR 0.093 X /4 =0.007 TREBET (BE)  |FHAEMRARC-40 t=15cm 0.600 X 1.0 0.600[ ™ 5.36




+T @ DIP ¢ 75 T % & B B E 1020240
s % T W R lgé”ﬁ'“ﬁ"“ﬁé” | % &
DIP 675 +40 0.98 e
AshfUy4—
+TIER T T RAEFERLD = 53.47 m ||EhEEDINT T t=15cmET 2 X 1.0 2.0 m 106.94
1) 72 = 0.98 +0.093 - 0.04 = 1.033 m PELA 2R R B HIRTA
MR A2k =0.20 + 0.093 = 0.293 m [[AsfivEEL T BH0.28m3, t=15cmPL T 0.600 X 1.0 0.600] ™ 32.08
MR TERT =0.04+1.033 - 0.293 - 0.29 = 0.490 m
AsERALEE T 0.600 X  0.04 0.024] ™ 1.28
Al g8 AsERALER T, 1.28 X 2.35 3.008] 3.01
‘ T H
PEHI T BH0.28m3 0.600 X 1.033 0.620] ™ 33.15
BEEAREL 0 o REI BHEA
— | . /& 22 0.600 X 0.293
Y vy Sl — S @ . .
1 RH-30 _2“ s T BHO0.28m3 %>/ f5/E - 0.007 (F&PERR) 0.169] ™ 9.04
_— RC-40 3 7 e fEH L 0.600 X 0.490 ’
. MF— ——% 5 5T BH0.28m3 4>/ Siis/E 0.294] ™ 15.72
5| 8 T g ﬁf EREHMA 1747 X 09 = 15.72
& L ¢ 7E 38 137 o 17.47
BESR S| TEsk L
T 46—g" 7 ALBE T 33.15 - 17.47 = 15.68 ™ 15.68
R ,|
EKE DIPGXT5/ < SR IR T >
BE AJI AN HAN
AsE B T(H5H) F/EBRRIEET A2 t=3cm 0.600 X 1.0 0.600] ™ 32.08
AT W=1.8mAd; FoNHRE
AT (FIE)  |[EAR A RM-30 t=11em 0.600 X 1.0 0.600] ™ 32.08
2 AT W=1.8mA 25+
PR 0.093 X /4 =0.007 TREEET (FiE)  |FAERARC-40 t=15cm 0.600 X 1.0 0.600] ™ 32.08




+T DIP ¢ 75 T % & B B E 1020240
s % T W R lgé”ﬁ'“ﬁ"“ﬁé” | % &
DIP 675 +#0 1.05 m .
Ashbys—
+TIER T TIEEEHEIY = m |G T t=15cm¥E T 2 X 1.0 2.0 m —
1) 72 = 1.05+0.093 - 0.04 = 1.103 m PELA 2R R B HIRTA
MR R A AR =0.20 +0.093 = 0.293 m [|AsfEEvEEL T BH0.28m3, t=15cmLL F 0.600 X 1.0 0.600] ™ —
WEYE  fEXET =0.04+ 1.103 - 0.293 - 0.29 = 0.560 m
AsERALEE T 0.600 X  0.04 0.024] ™ —
B 4 | {r@ER AsiRALER T X 2.35 ' —
R H
PEHI T BH0.28m3 0.600 X 1.103 0.662| ™ —
HERTEL . .-% REL BHEAN
2 N /8 o
o e R e e e S = 0.600 > 0.293
1 LU ‘ MR T BH0.28m3 4>/ Sfis/E ~ 0.007 (KlEFERR) 0.169] "™ —
Sy ‘ RC-40 2 N o £k + 0.600 X 0.560
|| B 5 = HLE T BHO.28m3 42/ SHifE 0.336] ™ -
e {Fﬁ[’]‘"‘ % g # 1E kL3 X 09 - -
i o 1 {EK A m3 -
BE4AN g 1E K
i ot 7% TALELT - - - 3 —
e e f_;'r’? »
#KE DIP-GX@ 75/ < SR IA T >
BE AJI AN HAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.600 X 1.0 0.600] ™ -
AT W=1.8mAN BRI
LR T (BE) | E AR S RARM-30 t=11cm 0.600 X 1.0 0.600] ™ —
2 AT W=1.8mAN Fo BRI
PR 0.093 X /4 =0.007 TREEET (FiE)  |FAERARC-40 t=15cm 0.600 X 1.0 0.600] ™ —




+T © DIP ¢ 75 T % & B B E 1020240
s % T W R lgé”ﬁ'“ﬁ"“ﬁé” | % &
DIP 675 +40 .10 m e
Ashbys—
+TIER T T RAEFERLD = 22.24 m ||&EEEGIH T t=15cm¥T 2 X 1.0 2.0/ m 44.48
1) 72 = 1.10 +0.093 - 0.04 = 1.153 m PELA 2R R B HIRTA
MR A2k =0.20 + 0.093 = 0.293 m [[AsfivEEL T BH0.28m3, t=15cmPL T 0.600 X 1.0 0.600] ™ 13.34
MR TERT =0.04+1.153 - 0.293 - 0.29 = 0.610 m
AsERALEE T 0.600 X  0.04 0.024] ™ 0.53
8 | REE AsHRALEE T 0.53 X 2.35 1.246[ 1.25
! 1 H
PEHI T BH0.28m3 0.600 X 1.153 0.692| ™ 15.39
HERERL TiLT RET BHEAS
g Nk /s
*—o ——— & \,RM_BG E' 97]\ 0.600 X 0.293
—= 2 MR T BHO0.28m3 %>/ f5/E - 0.007 (ElEPERR) 0.169] ™ 3.76
=y | | RC-40 > 8 1Ek 1 0.600 X 0.610
3 @ J o BERET BHO0.28m3 Z>/$iEE 0.366] ™ 8.14
= B El <l H ERTFA 9.04 X 09 = 8.4
e i o £ 3k i H m3 9.04
ke - TR
- r]* 8] 7% LB T 1539 -  9.04 = 6.35| ™ 6.35
BAE DIPG 15/ < I T >
BE AJI AN HAN
AsE B T(H5H) F/EBRRIEET A2 t=3cm 0.600 X 1.0 0.600] ™ 13.34
AT W=1.8mAN BRI
LR T (BE) | E AR S RARM-30 t=11cm 0.600 X 1.0 0.600] ™ 13.34
2 AT W=1.8mAN Fo BRI
P A 0.093 X /4 =0.007 TREEET (FiE)  |FAERARC-40 t=15cm 0.600 X 1.0 0.600] ™ 13.34




+T DIP ¢ 75 T % & B B E 1020240
s % T W R lgé”ﬁ'“ﬁ"“ﬁé” | % &
DIP o 75 +#0 A7 m e
Ashbys—
+TIER T TIEEEHEIY = m |G T t=15cm¥E T 2 X 1.0 2.0 m —
1) 72 = 1.17 +0.093 - 0.04 = 1.223 m PELA 2R R B HIRTA
R R A AR =0.20 +0.093 = 0.293 m |[AshREXWEEL T BH0.28m3, t=15cmLL T 0.600 X 1.0 0.600] ™ —
BREEZE  7E3ET =0.04 + 1.223 - 0.293 - 0.29 = 0.680 m
AsERALEE T 0.600 X  0.04 0.024] ™ —
Bl K&ER AsHRALEL T X 2.35 ' —
R H
PEHI T BH0.28m3 0.600 X 1.223 0.734] ™ —
SERIEL o 550 o EBI THEAS
=3 \T As T o
= Nl . 4 AR 0.600 X 0.293
LR = IR T BHO.28m3 % /S -~ 0.007 (BlEERR) 0.169] " —
EgR— b RC-40 8 “ e fikt 0.600 X 0.680 ’
S|P m ST BHO.28m3 4> /S Hi /£ 0.408] " —
8§ g T g ¥ fEK 131 < 09 - -
1E 3K 137 m3 —
BAEFZ K g {EH -3
Fau) —*—a 7% AL T —- - - nd -
* o < R i
k& DIP-6X 75,/ < BEERAEIA T >
HE AJ] AVRAAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.600 X 1.0 0.600] ™ -
AT W=1.8mAN BRI
LR T (BE) | E AR S RARM-30 t=11cm 0.600 X 1.0 0.600] ™ —
2 AT W=1.8mAN Fo BRI
PR 0.093 X /4 =0.007 TREEET (FiE)  |FAERARC-40 t=15cm 0.600 X 1.0 0.600] ™ —
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T+ @ DIP ¢ 75 T %% & 7 H £ 10240
5 4 Im4 Y1 HAT4Y o e =
& X T Fill i el RS B Bifrl $% &
DIP 675 +1kv 1.1I8 m
<+T>
AshiUhys—
+ TR T TIEREFHFRIY = 10.64 m ||&f2E B0 T t=15cm¥E T 2 X 1.0 2.0 m 21.28
1 = 1.18 +0.093 - 0.04 = 1.233 m BEHn A S8 R IR A
B A AR =0.20 +0.093 = 0.293 m |[AshEREVEEL T BHO0.28m3, t=15cmbL F 0.600 X 1.0 0.600] ™ 6.38
MRV fEk+ =0.04 +1.233-0.293 - 0.29 = 0.690 m
AsTRALEE T 0.600 X 0.04 0.024] ™ 0.26
# & | {R&ES AsERALERT. 0.26 X 2.35 0.611f 0.61
+ab H
PRE T BHO0.28m3 0.600 X 1.233 0.740] ™ 7.87
SERREL T B BT BHEAS
g \ As | s V
I, S PR t 7R 0.600 X 0.293
iM —;f," & HRET BHO0.28m3 X /\#5E - 0.007 (FElAEPERR) 0.169] ™ 1.80
TN | Re-40 = 2 ekt 0.600 X 0.690 3
ol ol | . HRT BHO0.28m3 %>/ st 0.414] ™ 4.40
N & ﬁﬁﬁ_{{i 2 fﬁ kL 489 X 09 =  4.40
o 7 3% 3 m3 4.89
#FW” S Tk L
P = : m3
N 3l P HAVE T 787 - 489 = 2.98 2.98
HKE DIP-GUYT5/ < SRR T >
BIE AN AN HAN
AszEJE T.(H5H) FAEBRIET 22 t=3cm 0.600 X 1.0 0.600] ™ 6.38
AT W=1.8mAT FoNHRE
BB T (HGE) | BERE A RM-30 t=1lem | 0.600 X 1.0 0.600] ™ 6.38
2 AT W=1.8mAT FoNHRE
R PERR 0.093 Xz /4 =0.007 TR T (FaE) | AR RC-40 t=15cm 0.600 X 1.0 0.600| ™ 6.38




+T @© DIP ¢ 75 T % & 1.0 Y
- . I m é V) R
i X T Fill il il " B HAf7
DIP 675 +40 1.20 e
Ashbys—
+TIER T T RAEFERLD = 40.72 m ||&EEEGIE T t=15cm¥T 2 X 1.0 2.0/ m 81.44
1) 72 = 1.20 +0.093 - 0.04 = 1.253 m PELA 2R R B HIRTA
MR A2k =0.20 + 0.093 = 0.293 m [[AsfivEEL T BH0.28m3, t=15cmPL T 0.600 X 1.0 0.600] ™ 24.43
MR TERT =0.04+1.253 - 0.293 - 0.29 = 0.710 m
AsERALER T, 0.600 X  0.04 0.024] ™ 0.98
I AsEEALER T 0.98 X 2.35 2.303| 2.30
R H
£ET BHEAS PEHI T BH0.28m3 0.600 X 1.253 0.752| ™ 30.62
%+ L . -
2 o A AR 0.600 X 0.293
L RC-40 _éT ST BT BH0.28m3 4> S/ E 0.169] " 6.88
EREFY | "o 4 S 13k 1 0.600 X 0.710
g 2 { o YL T BH0.28m3 2>/ S#3E 0.426| ™ 17.35
= ® Al H {3 19.28
5?; FAN = [ w0 " 19.28
A - 1£3k 37
| | —'— =3 § m3
+—— 7 * 7 ALBE T 30.62 - 19.28 11.34 11.34
#XE DIP GM;?B_.
< EhEEE IR T >
BE AJI AN HAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.600 X 1.0 0.600] ™ 24.43
AT W=1.8mAN BRI
LR T (BE) | E AR S RARM-30 t=11cm 0.600 X 1.0 0.600] ™ 24.43
2 AT W=1.8mAN Fo BRI
P A 0.093 X /4 =0.007 TREEET (FiE)  |FAERARC-40 t=15cm 0.600 X 1.0 0.600] ™ 24.43




+T ® DIP ¢ 75 T % & B B E
5 p Im34 91 HAT4Y RV,
i X T Fill il il N B HAf7
DIP o 75 +#0 1.45 m e
Ashbys—
+TIER T T RAEFERLD = m |G T t=15cm¥T 2 X 1.0 2.0 m
1) 72 = 1.45+0.093 - 0.04 = 1.503 m PELA 2R R B HIRTA
R R A AR =0.20 +0.093 = 0.293 m |[AshREXWEEL T BH0.28m3, t=15cmLL T 0.850 X 1.0 0.850] ™
WEYE  {EXET =0.04 + 1.503 - 0.293 - 0.29 = 0.960 m
AsERALEE T 0.850 X  0.04 0.034] ™
}E ﬁ” ; {ET‘EIE AsTRAULEE T, X 2.35 t
‘ R H
PEHI T BH0.28m3 0.850 X 1.503 1.278] ™
HERREL T 80 o REI FHEA
e X As L i — 3 & 22k 0.850 X 0.293
i TORR0 | S o MR T BHO0.28m3 4>/ SHA[E - 0.007 (B0 0.242| "
o R | 8 S o ER T 0.850 X 0.960
¢ Givm [ N MR T BHO0.28m3 4/ Sii5/E 0.816] ™
2 8 e g = (% L X 09 -
d B A H (% L s
RESAN 8 fER L3
- e e 7% LA T - - - 3
o e — S pff H=2.0m
Ek e mp_gm;ﬂ&/.ﬁ/ 8T 1 B R AR IR 1B 1.0 m
< {EEEAE IR >
BE AJI AN HAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.850 X 1.0 0.850] ™
2 AT W=1.8mAN Fo BRI
P A 0.093 X /4 =0.007 AT (FIE)  |[EAR A RM-30 t=11em 0.850 X 1.0 0.850] ™
AT W=1.8mAN Fo BRI
TEEET (HE)  |[HAEMARC-40 t=15cm 0.850 X 1.0 0.850] ™




+T DIP ¢ 75 T % & 3 " & 10240
s % T W R lgé”ﬁ LI | % &
DIP 675 +40 1.50 m .
Ashbys—
+TIER T T RAEFERLD = 5.51 m ||&hZEEIMT T t=15cm¥T 2 X 1.0 2.0/ m 11.02
1) 72 = 1.50 +0.093 - 0.04 = 1.553 m PELA 2R R B HIRTA
SEIPPRES Z AR =0.20 +0.093 = 0.293 m |[AshRERVEEL T BHO0.28m3, t=15cmLL F 0.850 X 1.0 0.850[ ™ 4.68
MR TERT =0.04+ 1.553 - 0.293 - 0.29 = 1.010 m
AsERALEE T 0.850 X  0.04 0.034] ™ 0.19
B o 513 AsiRILEE T 0.19 X 235 0.447| * 0.45
PEHI T BH0.28m3 0.850 X 1.553 1.320] ™ 7.27
BRERREL T 850 o REI FHEA
S \ As | " 8 _ ;
e — > A AR 0.850 X 0.293
1 'RI- _-‘-:’_—“ S T BHO0.28m3 Z. /AT - 0.007 (F&PERR) 0.242] ™ 1.33
- 3 7 g fEk+ 0.850 X 1.010
o ERERIh —>— a MR T BH0.28m3 2>/ S#3E 0.859| ™ 4.73
3 3 hﬂ_ﬁ 5 ® ERTMM 526 X 09 = 473
| 75 % 3 m3 5.26
BES2 N g 1E K
yin 2 BT 727 - 526 = 2.01] " 2.01
e 7 S H=2.0m
#KE DIP-GXg 75,/ +RT S L A S 1 B 1.0| m 5.51
< EhEEE IR T >
BE AJI AN HAN
8 T.(F5H) FAEBRLEET 27 t=3cm 0.850 X 1.0 0.850] ™ 4.68
2 AT W=1.8mAN Fo BRI
P A 0.093 X /4 =0.007 LR T (BE) | E AR SR ARM-30 t=11cm 0.850 X 1.0 0.850] ™ 4.68
AT W=1.8mAN Fo BRI
TREEET (Fi8)  |FAERARC-40 t=15cm 0.850 X 1.0 0.850] ™ 4.68




+T ® DIP ¢ 75 T % & 3 " & 1.024 Y
s % T W R lgé”ﬁ'“ﬁ"“ﬁé” | % &
DIP 675 +40 153 m .
Ashbys—
+TIER T T RAEFERLD = 291 m ||&hEEEIM T t=15cm¥T 2 X 1.0 2.0/ m 5.82
1) 72 = 1.53 +0.093 - 0.04 = 1.583 m PELA 2R R B HIRTA
MR A2k =0.20 + 0.093 = 0.293 m [[AsfivEEL T BH0.28m3, t=15cmPL T 0.850 X 1.0 0.850] ™ 2.47
MR TERT =0.04+ 1.583 - 0.293 - 0.29 = 1.040 m
AsERALEE T 0.850 X  0.04 0.034] ™ 0.10
i AsTRALEE T 0.10 X 2.35 0.235] * 0.24
£ B GEE — -
PEHI T BH0.28m3 0.850 X 1.583 1.346] ™ 3.92
HEIRIUEL T 580 T RET BHEAS
S S . 52N 0.850 X 0.293 |
" RM-30 2 o R T BH0.28m3 &/ i)+ —0.007 (AcAEHERR) 0.242| ™ 0.70
— RC-40 —g?:' & ol 1kt 0.850 X 1.040
R ¢ i L i 3| MR T BHO.28m3 %> /<#5/E 0.884| ™ 2.57
8 2 g = ek Ll 286 X 0.9 = 257
o = A 5 1Ek L3 m3 2.86
BAEYZ N S 1£3k 37
Pt ————9¢ AT 392 - 286 = Log[ ™ 1.06
G > Te SRR H=2.0m
EKE DIP-GX 75/ T R AR SR 1B 1.0] m 2.91
< EhEEE IR T >
BE AJI AN HAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.850 X 1.0 0.850] ™ 2.47
2 AT W=1.8mAN Fo BRI
P A 0.093 X /4 =0.007 LR T (BE) | E AR SR ARM-30 t=11cm 0.850 X 1.0 0.850] ™ 2.47
AT W=1.8mAN Fo BRI
TREEET (Fi8)  |FAERARC-40 t=15cm 0.850 X 1.0 0.850] ™ 2.47




+T DIP ¢ 75 T % & B B E
5 . Im3% v -1 ETYY N
i X T Fill il il N B HAf7
DIP o 75 +#0 1.57 m e
Ashbys—
+TIER T TIEEEHEIY = m |G T t=15cm¥E T 2 X 1.0 2.0 m
1) 72 = 1.57 +0.093 - 0.04 = 1.623 m PELA 2R R B HIRTA
R R A AR =0.20 +0.093 = 0.293 m |[AshREXWEEL T BH0.28m3, t=15cmLL T 0.850 X 1.0 0.850] ™
BREEZE  7ESE T =0.04 + 1.623 - 0.293 - 0.29 = 1.080 m
AsERALEE T 0.850 X  0.04 0.034] ™
i AsTRALEL T X 2.35 '
# #l | {8 5 m
PEHI T BH0.28m3 0.850 X 1.623 1.380 ™
HERREL T 850 o EBT THEAS
\ P
” N\ A& | | 8 : 5k 0.850 X 0.293
T = . YR T BHO.28m3 %>/ SE)E - 0.007 (B% 0.242| ™
o | 8 8 o e+ 0.850 X 1.080
50 L T 5 P T BHO0.28m3 4> /SHEIE 0.918] ™
gl g S g 8 i3k 1 X 09 - |
i Al 1. % N {E %+ w3
BESAN g fE L
A S . B AL T — - = m3
= “e Rl He2.0m
HKE DIP-6Ko 75/ LR BRI RHCIR 1B Lo| m
< {EEEAE IR >
HE AJ] AVMAAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.850 X 1.0 0.850] ™
2 AT W=1.8mAN Fo BRI
P A 0.093 X /4 =0.007 LR T (BE) | E AR SR ARM-30 t=11cm 0.850 X 1.0 0.850] ™
AT W=1.8mAN Fo BRI
TEEET (HE)  |[HAEMARC-40 t=15cm 0.850 X 1.0 0.850] ™




+T @ DIP ¢ 75 T %% &= i H # 1.0:04Y
s % T W R lgé”ﬁ'“ﬁ"“ﬁé” | % &
DIP o 75 +#0 1.58 m
<+T>
Ashbys—
+TIER T T RAEFERLD = 4.36 m ||&h2LEGH T t=15cm¥T 2 X 1.0 2.0/ m 8.72
1) 72 = 1.58 +0.093 - 0.04 = 1.633 m PELA 2R R B HIRTA
R TR A AR =0.20 +0.093 = 0.293 m |[AspERVEEL T BH0.28m3, t=15cmLL F 0.850 X 1.0 0.850] ™ 3.71
WEYE  fEXET =0.04+ 1.633 - 0.293 - 0.29 = 1.090 m
AsERALEE T 0.850 X  0.04 0.034] ™ 0.15
# A | k=S AsERILER T 0.15 X 2.35 0.353] ° 0.35
R H
PEHI T BH0.28m3 0.850 X 1.633 1.388] ™ 6.05
PERREL o B0 o BT BHEAS
S \ A | | 8 X
.—':7 TN \:,/ﬁhraabi _é b d &V‘xl\ 0850 X 0293
‘ | —= & MR T BHO0.28m3 &>/ Sii/T —0.007 (FlAFHERR) 0.242| ™ 1.06
bt s (R0 | = g ekt 0.850 X 1.090
2 g \"‘—“--}—{{i ‘ g % #URE T BH0.28m3 4> /S#5/E ‘ 0.927[ ™ 4.04
L o B | o H i ERERA 449 X 09 = 4.04 .
- 4 | o 2K Ty " 4.49
,%E“h‘ g.. 4 16k L |
P 7“ f = 7 AU T 6.06 - 449 = 1.56] ™ 1.56
. KARE H=2.0m
BKE DP-EXST5/ T R R LR 10| m 436
< {EEEAE IR >
HE AJ] AVMAAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.850 X 1.0 0.850] ™ 3.71
2 AT W=1.8mAN Fo BRI
P A 0.093 X /4 =0.007 LR T (BE) | E AR SR ARM-30 t=11cm 0.850 X 1.0 0.850] ™ 3.71
AT W=1.8mAN Fo BRI
TEEET (HE)  |[HAEMARC-40 t=15cm 0.850 X 1.0 0.850] ™ 3.71
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5 . Im3% v -1 ETYY N
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DIP 675 +40 1.60
<tT>
Ashbys—
+TIER T T RAEFERLD = EEEE M T t=15cm¥T 2 X 1.0 2.0 m
1) 72 = 1.60 +0.093 - 0.04 = 1.653 m PELA 2R R B HIRTA
R R A AR =0.20 +0.093 = 0.293 m |[AshREXWEEL T BH0.28m3, t=15cmLL T 0.850 X 1.0 0.850] ™
MR TERT =0.04+1.653 - 0.293 - 0.29 = 1.110 m
AsERALEE T 0.850 X  0.04 0.034] ™
Al ‘ L AsTRALEE T X 2.35 '
R H
_ PEHI T BH0.28m3 0.850 X 1.653 1.405| ™
%ﬁ%ﬂﬁmt_ﬁ 80 o RET BHEAS
“_‘::::_ \ AS | |, = .
S e | 2 | 52k 0.850 X 0.293
RC-40 | —u;:' g R T BH0.28m3 4>/ S5/ 0.007 (B 0.949] ™
ERRREYb : i 2 ekt 0.850 X 1.110
2l 2 ol gt o SR T BH0.28m3 %> $/E 0.944) ™
= {Eal oo < 1K 3 X 09 =
RESA 2 fEsk i "
i I S 1£3k 37
o —$ﬁ —Q. AL T — - = m3
; e 4 KHF H=2.0m
BKE DIP-EXS 75/ LT BRI 1B 10| m
< EhEEE IR T >
BE AJI AN HAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.850 X 1.0 0.850] ™
2 AT W=1.8mAN Fo BRI
P A 0.093 X /4 =0.007 LR T (BE) | E AR SR ARM-30 t=11cm 0.850 X 1.0 0.850] ™
AT W=1.8mAN Fo BRI
TEEET (HE)  |[HAEMARC-40 t=15cm 0.850 X 1.0 0.850] ™
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DIP o 75 +#0 1.61 m .
Ashbys—
+TIER T TIEEEHEIY = m |G T t=15cm¥E T 2 X 1.0 2.0 m
1) 72 = 1.61 +0.093 - 0.04 = 1.663 m PELA 2R R B HIRTA
R R A AR =0.20 +0.093 = 0.293 m |[AshREXWEEL T BH0.28m3, t=15cmLL T 0.850 X 1.0 0.850] ™
WEYE  fEXT =0.04+ 1.663 — 0.293 - 0.29 = 1.120 m
AsERALEE T 0.850 X  0.04 0.034] ™
£ Al REIE AsEEALEE T, X 2.35 '
R H
PEHI T BH0.28m3 0.850 X 1.663 1.414f ™2
HERREL T% BT THEA
%_ ,"—
=2 As | /8
IR N ! 52N 0.850 X 0.293
: —=% S T BHO0.28m3 %>/ f5/E - 0.007 (F&PERR) 0.242 ™ —
#5357 b | fe-40 2 | 3 ekt 0.850 X 1.120
gl < N S HLB T BH0.28m3 4>/ Siia/E ‘ 0.952 ™
- A —| H 1E 3k 3 X 09 =
BER S fEsk i S "
4 8] P L ALE T T n
*— — L]
i o ot FAE H=2.0m
B i-Siay LT LR R R 1B 1.0| m
< EhEEE IR T >
BE AJI AN HAN
As# )8 T.(H3H) FAEBRLEET 27 t=3cm 0.850 X 1.0 0.850] ™
2 AT W=1.8mAN Fo BRI
P A 0.093 X /4 =0.007 LR T (BE) | E AR SR ARM-30 t=11cm 0.850 X 1.0 0.850] ™
AT W=1.8mAN Fo BRI
TEEET (HE)  |[HAEMARC-40 t=15cm 0.850 X 1.0 0.850] ™
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DIP o 75 +#0 1.65 m .
AshfUy4—
+TIER T TIEEEHEIY = m |G T t=15cm¥T 2 X 1.0 2.0 m
1) 72 = 1.65+0.093 - 0.04 = 1.703 m PELA 2R R B HIRTA
R R A AR =0.20 +0.093 = 0.293 m |[AshREXWEEL T BH0.28m3, t=15cmLL T 0.850 X 1.0 0.850] ™
WEYE  {EXET =0.04 + 1.703 - 0.293 - 0.29 = 1.160 m
AsERALEE T 0.850 X  0.04 0.034] ™
I 7 AsTRALEE T X 2.35 '
R H
SEEI T 850 ; I T BH0.28m3 0.850 X 1.703 1.448] ™
HEMIEL oS¢ o HREI THEMS
e o N A 3 »
| i RS20 = 4 AN 0.850 X 0.293 ’
; ‘RM{J gl & o HRL BH0.28m3 4o/ Siis/E - 0.007 (F4E 0.242| ™
BRERY— b ! = B 3kt 0.850 X 1.160
g 8 1' i 3| VLR T BH0.28m3 4> /ST 0.9 ™
= Al — " 1E 5k L3 A X 09 -
BEAZ K 8 1E3k - "
i — 12 3k 7 A
« e P e 7% 0B T - - = n
#KE DIP-GX$ 75/ KM E H=2.0m
- 8T 0% BB AR S R 1 B 1.0] m
< EhEEE IR T >
BE AJI AN HAN
As# )8 T.(H3H) BERIET A2 t=3cm,PK-3 0.850 X 1.0 0.850] ™
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